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Max.Marks:24

                                                   (Statistics and Probability) 

1. Which measure of central tendency can be found from an ogive?                            (1)

2 .Observe the following raw data and write which is the best measure of central     tendency .Justify your answer.

                              40, 50 , 43 ,57,49,56,49,50,100                                                         (1)

3.The mean of the following distribution is 50, but the frequencies f1 and f2 in the classes
20-40 and 60-80 respectively are not   known. Find   these   frequencies .                    (5)
                               Class                           frequency

                               0-20                                 17     

                             20-40                                  f1
                                           40-60                                 32

                             60-80                                 f2
                             80-100                               19

                              total                                   120

4 .A coin is tossed  three times. Find the probability of getting 

                         (a)  atleast two heads
                         (b)  atmost one head

                         (c)  exactly one tail                                                                               (4)

5 .If the median of the distribution given below is 28.5,find the values of x and y.    (3)

        Class:           0-10     10-20   20-30    30-40   40-50   50-60   total
        Frequency   :  5           x           20          15       y           5         60
6.The following data gives the information on the observed life times  (in hours)of  225 electrical components:

      Life time (in hours):   0-20   20-40   40-60   60-80   80-100   100-120

     Frequency               :     10      35         52         61         38          29

     Determine   the modal life time of the components.                                              (3)

7. The following table gives production yield per hectare of wheat of 100 farms of a     village.

   Production yield (in kg/ha):   50-55   55-60   60-65   65-70  70- 75  75-80

   No of farms                       :     2           8         12          24       38         16

   Change  the  distribution to a more than type and draw its ogive.                            (4)
8. From a well shuffled pack of  52 cards, the face cards of heart and club are removed and then a card is drawn. What is the probability that it is

   (a)  ace              (b) jack       (c) king of spade                                                           (3)
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